upsale

Date: 5/06/22

Sales Order

Stations: KCVI-FM, KLCE-FM, KNBL-KEII-AM, Buyer: BARB EHARDT KTHK-FM Tax Schedule: (None) Contract Name: BARBARA EHARDT 2A SPR 2022 Agency Commission %: 0 Contract#: (none) Billing Cycle: Standard Start Date: 5/07/22 End Date: 5/15/22 Salesperson: 424bfuer Comm %: 0 Revenue Type: POLITICAL - LOCAL Type: Cash Makegood Policy: WITH IN CONTRACT DATES Advertiser: BARBARA EHARDT Address: 961 J STREET City: IDAHO FALLS State: ID Zip: 83402 Phone: (208) 403-6686 Product Name: BARBARA EHARDT 2A SPRING 2022 Competitive Code: POLITICAL

KCVI-FM

N.	DAT	res	Alt	TIM	1ES	LEN	DISTRIBUTION									RATE	TOTALS		PTY
No	START	END	wks	START	END	LEIN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	NATE	SPOTS	\$\$	FII
1	5/07/22	5/14/22		6:00 AM	7:00 PM	60						4		4	D	14.00	8	112.00	
2	5/08/22	5/15/22		6:00 AM	7:00 PM	60							3	3	D	13.00	6	78.00	
3	5/09/22	5/13/22		6:00 AM	7:00 PM	60	Х	Х	Х	Х	Х			10	W	18.00	10	180.00	

TOTAL GROSS \$370.00, NET \$370.00

KLCE-FM

Na	DA	ΓES	Alt	TIM	/IES	LEN	DISTRIBUTION									RATE	TO	OTALS	PTY
No	START	END	wks	START	END	LEN	М	Ţ	W	Т	F	SA	su	Per Wk	D/W	KAIE	SPOTS	\$\$	FIT
1	5/07/22	5/14/22		6:00 AM	7:00 PM	60						4		4	D	26.00	8	208.00	
2	5/08/22	5/15/22		6:00 AM	7:00 PM	60							4	4	D	25.00	8	200.00	
3	5/09/22	5/13/22		6:00 AM	7:00 PM	60	Х	Х	Х	Х	Х			20	W	26.00	20	520.00	

TOTAL GROSS \$928.00, NET \$928.00

KNBL-KEII-AM

No	DAT	ES	Alt	TIM	1ES	LEN		DISTRIBUTION								RATE	тс	OTALS	PTY
140	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	su	Per Wk	D/W	KAIL	SPOTS	\$\$	r i i
1	5/07/22	5/14/22		6:00 AM	7:00 PM	60						4		4	D	12.00	8	96.00	
2	5/08/22	5/15/22		6:00 AM	7:00 PM	60							4	4	D	8.00	8	64.00	
3	5/09/22	5/13/22		6:00 AM	7:00 PM	60	Х	Х	Х	Х	Х			10	W	10.00	10	100.00	

TOTAL GROSS \$260.00, NET \$260.00

Date: 5/06/22

KTHK-FM

No	DAT	ΓES	Alt	TIM	1ES	LEN		DISTRIBUTION								RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	T	F	SA	SU	Per Wk	D/W	NATE	SPOTS	\$\$	FII
1	5/07/22	5/14/22		6:00 AM	7:00 PM	60						4		4	D	15.00	8	120.00	
2	5/08/22	5/15/22		6:00 AM	7:00 PM	60							4	4	D	10.00	8	80.00	
3	5/09/22	5/13/22		6:00 AM	7:00 PM	60	Х	Х	Х	Х	Х			20	W	12.00	20	240.00	

TOTAL GROSS \$440.00, NET \$440.00

Billing Projections: By Month			
May 22			
CA 1,998.00			
ST 1,998.00			
✓ Print Spot Prices	TOTAL	SPOTS	122
RIVERBEND COMMUNICATIONS RADIO STATION	GROSS	TOTAL \$	1,998.00
CERTIFY THAT THEIR ADVERTISING SALES	ADJUS ⁻	TED SPOTS	122
AGREEMENTS DO NOT DISCRIMINATE ON THE	ADJUS ⁻	TED TOTAL	\$ 1,998.00
BASIS OF RACE OR ETHNICITY AND THAT ALL			
SUCH AGREEMENTS CONTAIN	APPRO	VE DECLI	NE
NONDISCRIMINATION CLAUSES	\bigcirc	\bigcirc	General Sales Manager
	\bigcirc	\bigcirc	General Manager
	\bigcirc	\bigcirc	National Sales Manager
	\bigcirc	\bigcirc	Local Sales Manager

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges	s. See Invoice for actual schedule and charges.
1, Barbara Ehardt	, hereby request station time as follows:
1	, hereby request station time as follows:
FED	PERAL CANDIDATE
IDENTIFY CANDIDATE TYPE	TE OR LOCAL CANDIDATE
[,] 310	TE OR LOCAL CANDIDATE
ALL OUTSTIONS (DLOS)	
	KS MUST BE COMPLETED
Candidate name:	
Barbara Ehardt	
Authorized committee:	
Committee to Elect Burbara	Ehardt
Agency requesting time (and contact information):	
N/A	
Candidate's political party:	
Republican	
Office sought (no acronyms or abbreviations):	
I daho House of Representatives	s
Date of election:	General Primary
May 17, 2022	- Timery
Treasurer of candidate's authorized committee:	
Clay Mordoch	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been ful	in in the delicate and the second of the sec
the candidate listed above who is a legally qualified ca	
the authorized committee of the legally qualified candi	
(2) this station is authorized to announce the time as paid for b	py such person or entity; and
(3) this station has disclosed its political advertising policies, including and other sales practices.	cluding applicable classes and rates, discount, promotion
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	CRIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature:	Signature: Management of the signature:
Toward Jan	MUNUV
Name: Borbara Dee Ehgrat	Name: William Fuerst
Date of Request to Purchase Ad Time: 5 16 /22	Date of Station Agreement to Sell Time 5/16/2022

to an opposing candidate of for a duration of at least fou the candidate approved the broadcast or if radio prograi	fication: rtifies that the broadcast matter to be aired pursur, if it does, (2) contains a clearly identifiable photor seconds and a simultaneously displayed printed broadcast and that the candidate and/or the parmming, contains a personal audio statement by that the candidate has approved the broadcast.	cograph or similar image of the candidate d statement identifying the candidate, tha adidate's authorized committee paid for t
Candidate/Authorized C	Committee/Agency	
Signature:		
Name:		
Date:		
	TO BE COMPLETED BY STATIC	N ONLY
Federal candidate certification:	on signed (above): Yes	No N/A
Accepted Accepted IN PART (Rejected – provide r	e.g., ad copy not yet received to determine spor	nsor ID)*
ment k for a ke mengangankak a maja kinas samanya arha penangah penangan saman dia sambangan da kinas da kepangan anda anga kepangan saman kan saman da kepangan saman da kepa		
*Upload partially accepted for	orm, then promptly upload updated final form w	hen complete.
	orm, then promptly upload updated final form w	hen complete.
	os, if any (e.g., insufficient sponsor ID tag): Station Call Letters: KJHK	Date Received/Requested:
Date and nature of follow-up	os, if any (e.g., insufficient sponsor ID tag):	

BARBARA EHARDT COMMITTEE TO EL PO	
BARBARA EHARDT COMMITTEE TO ELECT BARBARA EHARDT 961 J ST IDAHO FALLS, ID 83402-2819 Pay to the Order of	1077 92-41/1241
Commerce LASTSIDE OFFICE P.O. BOX 1887 FOR THE Bank of IDAHO FALLS, IDAHO 83403	Date 2 3 PA 1991
FOR Fradio ads	Photo Bare Banaire Ban
10 10 2 7	Annual An